(#FDOR)

2,100,000 3 {+%E
62.02% BITE

HEHOR BISEHEEEIEE (R3. 4~6)

H B [x+&s |[IRASE |ZTHEHE B BEXS [BEH AE ik
4] 20 2,100,000 2,100,000 |mxzaa (RIEEEE BEEESE(A~6H%)
4] 20 1 766,315] 1,333,685|sa&M%E| 6ILME SIREVol 1855 (B3-2[H. 16575040 [TRATA T 1
4] 27 2 4,400| 1,329,285|s=f%x| 7THEEAE (HERAGASY) M EEE
5| 6 3 7,964] 1,321,321 [s@=mE [SENRIE ho—aE—§& R3.3.12~R3.4.12
5[ 10 4 132,300( 1,189,021 |sA=E |osrsnaEnss [R5 U4AS)
5] 11 5 470] 1,188,551 [sazwe 1 1 EHRE E T S
5] 26 6 20,809| 1,167,742 |SATHE |02 rsBaERES [BERRY B E2ERE WA |[FEL-FETHSE
5] 26 7 4400| 1,163 342|s=mx| 7TREEAE [HEKGAD) B
5] 27 8 5731[ 1,157,611 |5aEME| SBIEE 13—y bERFE (A S) |BIEHREL(RAOL)
6] 1 9 15,178] 1,142,433|5az % [oarsnarnes | S EEERE
6| 7 10 8,686| 1,133,747|:B&wmx |SENRIE HS5—aF—§ & R3.4.13~R3.5.11
6] 18 11 128,520 1,005,227 (5= % [srsmarmes (85 (5A5)
6] 28 12 20,809| 984,418|3ATHE |02 rEBAERES [BERRY B4 E2EREGAD) |[FEL-FETHSE
6] 28 13 4,400| 980,018[sAE®x| 7RIEEAE |HERGAD) B
6] 28 14 5731| 974287:=m%| SBIEE A —xyhERRE (BAR) [BIEEEL(RAOL)
7] 6 15 2,757 971,530|:@&w% |SENRIE ho—aE—§& R3.5.12~R3.6.10
7|12 16 147,420 824, 110(s8=#% |oarsnarmes (5 6AR)
7] 27 17 20,809 803,301 |BEME [osrsnaERES [BERRY E4E2RBE6GAN [FEL- FETULES
7] 27 18 5731 797570\ | SEBIEE A 8—xyhEEE (6A5) [BIEEELL(RAOL)

2,100,000 1,302,430




